. (R2017)

(2 ¥2 Hours)

N.B: (1) All questions are compulsory.
(2) Figures to the right indicate marks.
(3) Nlustrations, in-depth answers and diagrams will be appre
(4) Mixing of sub-questions is not allowed.

Q1. Attempt the following (any THREE): .
(A) Define data communication? List and explau
digital data Communication?

®
©
D)

~ (E) Write short note on Slgnal-ta,Nolge\I{ag.o (S \,NR)‘H
En@ hep

Descrlbe Ring topology.

Solve: The power of a signal’ iSTHO W

W; what will be the valugnf SN‘R?\:““W
(F) Explain Amplitude Shlﬁ‘\K"&gﬁg\

analog conversion teckmiqug e

Q2. Attempt the fuffgwﬁgt(&nx“T, 1k ME}:‘
(A) Define Dssgan@““ I Ianiﬁow "

(B)
©

:;Qv‘ R g -l&
W‘lttr a{hgf Mﬂ‘@agrame@fafﬁ e’fgg)\@bonems, of packet switches.
i Qd;ﬁ}:ﬁéa@h staga of three-stage switch
‘;aqdrﬁ mA,lst ¢

(F) ~Gi

(15)

| d(OOOO 0000)
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Attempt the following (any THREE)

(D) Explain the control frames of HDLC.
(E) What is Byte Stuffing and how it

(F) How data flow

Q4.
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